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@ Sue and Takeshi have just run into each other at the station.
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@ Ken and Sue have arranged to meet at the coffee shop.
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Sue: Takeshi, long time no see. I've heard you got a job at a travel agency. Congratulations!

Takeshi: Thank you.

Sue: Have you gotten used to the job yet?

Takeshi: Yes. But, compared to my college days, I have become very busy. I don’t have any time
for myself.

Sue: That’s tough. At my friend’s company, there are many holidays, and they don’t have to work

overtime, I heard.

Takeshi: I'm envious. At my company, there are few holidays and the salary is low . . . It can’t
get worse.

Sue: Why didn’t you check more before you entered the company?

Takeshi: I thought that I could travel around when I got in a travel agency.

@

Sue: I happened to meet Takeshi at the station this morning.

Ken: I haven’t seen him since he graduated. How was he?

Sue: He looked very tired. He said he sleeps only four or five hours every night.
Ken: Company employees in Japan have a hard time, after all.

Sue: Besides that, he said he doesn’t have time to go out with Mary.

Ken: I see. If I were him, I would choose the girlfriend over the job. I hope they’ll be okay.
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In Lesson 13, we discussed the sentence-final expression % 5 T3 which means “seem-
ingly.” Here we will study another sentence-final 4 9 T, which presents a “hearsay
report.” The two % 9 T differ not only in their semantics, but also in the forms of

predicates they are attached to.

1
You can add the % 9 T+ of report to a sentence ending in the short form.

If you heard someone say: You can report it as:
[BAREDZE (FELUWTT,] > HABORBEIFIELWLWESTY,
ICBh & UwELS 0 T Eh < UwZEx> 0 =

“Our Japanese class is fun.” I have heard that their Japanese
class is fun.

[FEEFETHERITT . > FERFETERNEZESTT,

Hhatl) LAtED ‘BAEL LAtED

“Our professor is very kind.” I have heard that their professor is
very kind.

‘?EI (ii%ﬁ%ﬁﬁ‘ﬁ@%ﬁﬁ/u?bto_l > %@@(3{%%ﬁ‘ﬁh‘of:%5t“§'o
“We did not have a class today.” Lve heard that they didn’t have a
class that day.

When we use % 9 T, the reported speech retains the tense and the polarity of the
original utterance. We simply turn the predicates into their short forms. (Thus 7 after
a 7Zr-adjective or a noun changes to 72, while T after an \‘-adjective is left out.)
Compare the paradigms of the two %9 T,

I hear that . . . 1t looks like . . .
verbs: 9 > ETESTY —
L\-adjectives:  EUOLLY » TV ULWLWESTYT TV UESTY
T-adjectives: !1;?5—7‘:“ > 1{9}%‘57‘5%5?“3’ ?1;'2’5%52“'9"
noun + 9 ;%—:ﬁiufc > %%Ti%’BZ“?’ —

"The # 9 T of report is robustly invariant. The only forms commonly used are ¢ 9 T3 and the more
casual % 9 72. We do not use the negative # 9 U+ % ) ¥4, and the past tense version % 9 T L 7=.
®See the footnote on # J T3 in Lesson 13.
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You can also use % 9 T3 to report on things that you have read about in a book or in a

newspaper, or have come to know via a broadcast. To specify the information source, you
can preface a sentence with the phrase ~i2X % 2, as in %ﬁ'Fﬂj 12X % ¢ (according to the
newspaper report), and 5%??&&: X % 2 (according to the weather forecast).

139

In informal speech, you can add - < at the end of a sentence, instead of % 9 T, to quote

what you have heard. - T is the informal variant of the quotation particle £ and follows
3

the short forms in much the same way as £ > T«wF L7 and 49 CT7.

Thus, when your friend Mary says,

[RERELVWTT. &Lk, %fiu%%vbf% 5%, T,

X L 2o A

you can report it as:

ATY=3h. FBRELVSTC, BLE BBRYSIAESTC,

X519 WEHY L G4
Mary says she’s busy today. She says she has an exam tomorrow.

You can also use - T in place of the quotation particle ¥ before verbs like £ 9.

HELIARTEST e What did Akira say?

Faal—} Egﬁ_’\“ﬂ'??”:o TE o> (/. He said he ate too much chocolate.

5
7- & is one of the several words in Japanese that refer to conditional (if) dependence.
When we say “A 7= 5 B,” we mean that “B is valid, contingent on the fulfillment of A.”
That is to say, the event, action, or situation in B is realized if and when the condition A
1s met.
BRIZATS =6, %f@%:ﬁ‘«‘i 3
[N = D 5

2 3A

I will buy kimono if and when I go to Japan.

® 5 and Z can also follow the long forms, and indeed sentence final particles like #*, 23, and X, if your
intent is to quote verbatim, preserving the style and tone of the original utterance.

*5 T changes to T after A.

*We learned one use of this word in Lesson 14: 7= & 29 T¥ %" used in recommending an activity to the
listener. 7= & £ 9 T literally translates as “how is it if.”
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The initial 7= in 7= 5 comes from the short form past tense endings of predicates.

verbs: Ef,, 5 > EZI:;/UEE)
L\-adjectives: PELLY > PELHLSEDS
7x-adjectives: Eih‘f:“ < %275‘7‘:‘ HlED
noun +Td: @3&7’:‘ > Qﬁg_aﬁ:“o =5
Lnegative clauses:  ~#l\ > ~Eh-okb

Sometimes, the clause before 7z & describes a possible condition and the clause after it the
consequence which then follows. Whether or not the condition is actually met is largely
an open issue with this set of sentences. It may be fairly likely, as in the first example, or
very unlikely, as in the last.

RIAFE ol b, BFIITETT,

Tl = AT \
We will go for a walk, if the weather is fine.

WLTREICSSEL, 202 z%ﬁ_vz wiT

LF L EEAEN »
I will ask about it, if I see Professor Yamashzta

BEAE-EL, 2HF %é%no“cwé'CL.,tvc

V= AT il A _Zi fixg
If somebody is a Japanese person, then they will probably know this word.

;ﬁ(tt:%f:otﬁ)‘ T b e S e ) ioéé 2

I would send money to Ammnesty Intematzonal zf I should win the lottery.

Note that when you say “A 7= 5 B,” you cannot express a sequence of events in which B
occurs before A; B can only take place at the time A comes true or later. You cannot
therefore use 7= 5 to describe an “if” sentence like the following. (“B”= this weekend,
which comes before “A”=next week.)

X RBERERIV Db, AI*O).«\X 3B LIT) P onTT X,

5Ulp) L A Lwiz > NASE)

It will be better for you to study this weekend, if you have an exam next week.

Sometimes, the 7z & clause describes a very probable condition, and the second clause
describes the event that will take place as soon as the situation is realized. With this type
of sentence, 7z & simply arranges future events and activities in a temporal sequence.

A, 9 biC )'Fﬁof‘b‘ ekt g,

Z ATk TA b
I will call you when I get home tonight.
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r"iﬁvb%’\bot 3 U n%iL;?o

L7z
Lel’s go out and have some fun once we are done with the homework.

Note that the very same sentences could be interpreted in this way or in the way shown
earlier. The difference lies not in the sentences themselves, but in the possibly different
ways the real world could be like. If you expect to be home tonight in all likelihood, the
first sentence here describes what you will do when you get home. If, on the other hand,
you are not certain whether you will be home tonight, the same 7= & sentence describes
what you will do #f you get home.6

Finally, the 7= 5 clause can describe a condition that is unreal and contrary to fact. With
this type of sentence, you express a purely hypothetical condition and its probable result.

YW, —BFETCWSETLY I,

7=l e WhiIhlpd A
If I were a cat, I would be asleep all day long.

B%b“%of: 5. %E? FACTlTE,
If I had money, I would buy a car.

To describe what you do not need fo do, take a negative sentence in the short form, drop
the final \» of %Z\», and add ¢ CTH W\ T, %< T is the negative fe-form, which we
studied in the last lesson.

%@éﬁy}‘;\iﬁfﬁ SRC i v T

You do not need to take off your shoes.

TV ¥} ir7< i bl T

The present does not need to be anything expensive.

~ITL > ~IZLLTEVLWWTT does not need to . . .

®*Throughout the uses of the 7= & conditional clauses discussed here, one thing remains constant: A 7= &
B can only describe a conditional dependency that holds #naturally between A and B. You cannot
describe with 7= &5 an “if” dependency of the “B even if A” type, where B holds in spite of A.
Ui %*%Ltﬁ 275, ?FL ;t%*ﬁ‘*l,i-b.‘k
I will not marry you even zf you wam‘ to.
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£ 7=\ T follows a noun and expresses the idea that something or somebody resembles

the thing or the person described by the noun. The resemblance noted is usually in terms
of external characteristics, but not necessarily so.

fﬁ@ﬁ(li“/"l VS = e U €

7 L

My dad looks/acts like Jerry Garcia.

(Has a portly figure? Wears tie-dye shirts? Has an interesting taste in certain chemi-

cals?)

DO A T S AT
Ghie
That person over there is like a gorilla.
(Sturdily built? Thumps his chest often? Good at climbing trees?)

7
£ 7=\ T¥ can also follow a verb and expresses the idea that something “appears to be
the case.” It can follow the short form of the present tense and the past tense, both in the
affirmative and in the negative.

;ﬁ;/)ilﬁ—‘o =AE=WT5,

It looks like it has rained,

%0){\613‘5 BT WVWTWE B E=WTT,
It looks like that person is hungry.

DDANES DS @ﬁ%ﬁf)") 1AW,
18
It looks like that person did not sleep last night.

FEEHDLEFERIZCED VA EWTT,

AN ) =
It looks like the professor is not coming to school tomorrow.

verb + #/=L\TT" It looks like . . .

"27:\WTF can in fact follow adjectives too, but it is far more common to use % 3 T with adjectives.
See Lesson 13 for the adjective base + % 9 T construction.
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You can use the present tense short form and fﬁﬂ: to describe the event before which
something happens.

verb A (short present) + ;ﬁfj(: verb B B before A.

2] %%wh L) —ERRIATXET,

¢l e sl et ) W
I will go to Tokyo one more time before I go back home.

BARIZRBHIS. —SWAASERERLE LA,

o F < g2 WA sl FA, & XpEx0)
I studied Japanese for one semester before I came to Japan.

The verb that precedes iﬁﬁ‘ |2 is always in the present tense, whether the tense of the overall

sentence is in the present tense (as in the first example above) or in the past tense (as in
the second).

8

To describe an event after which another thing happens, you can use the fe-form of a
verb + #* &

verb A+ CTH'5 verb B A, and then B./B after A.

BEL T2 5 7;727‘_73;0 %%&é‘:i‘%iLf-

NAEL)

I studied and then wrote letters to my friends.

c%@*kﬁ%fb’ '@«itivo
Why don’t we (start) eat(mg) after Ken has arrived.

8An “A T#H 5 B” sentence can also describe the state B that has held true since the event A.
Zmrb 75/\/’(7.7 S, 2 Ch U LT,

I have been feeling very lonely since my cat died.
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A. Listen to Sue’s story and report it using ~57T%.

Example: §@7CD§_‘E\‘iLf:O —> 2&0)')CDE,E\/)7’L%7’C§‘

XD ci:f‘;::;_rb*b’o el
3@5§%uﬁo<\§ﬁgtgwiLto

Sl

REBEREROEETT,

WA WA £
gﬁBu§§TLto
; Zv:f:“t; Zﬂkﬁ éic:ﬁ% e
ﬁ?iz.Axtu\il,to

zxﬂﬁ/\/ =
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B. Pair Work—One person chooses one of the following topics and talks about it.
The other takes notes about what the person says and reports it to the class
using ~€>57TY.

1. Last weekend
2. My family (host family)
3. Plans for the holiday
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A. Report on what Mary and Robert said using ~>T.

Example: X7 ') —,/1 am busy this week.
— QZXTU“?AHHT?OT%?

LA

AT el L W T,

Z ALy Liiend

A e Ex. I am busy this week.

1. I have to study tonight.

2. Tom and Kyoko are dating.

3. I slept only three hours last night.
a/y— b 4. Mr. Sato got divorced.

(S2]

. I quit a part-time job.
6. I have to go back to England in June.

B. Pair Work—First practice the following dialogue with your partner. Then change
the underlined parts and make another dialogue with your partner.

A Z%DO’C% 2 a s A i(LV&’atoto’C

R

B:v& %wti ﬁgﬁ%bzéof
A vangg %oAf/a/*AK@N T:ﬁlo
Bi9A, Bosti LBy,

WBEHBES.SNLNTT

A. Make sentences with ~#5, 51 ULVTY using the cues.
Example: B%b*ﬁ)% = B%b“?)’)?”: . odlivieg
L RELHESCTATES 2. BB W 3. BRITTIT S

ReARS o Iz 134 W

4. ;5'—7]32?.717](2}7‘, 5. f”gfﬁb“&h\ 6. 7Lt xhZd b
7. MmN 8. WWRRFE 9. fkEIT LN D

10. BEPLI LW

AR
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B. Change the cues 1 through 8 into 7=5-clauses, choose the appropriate phrases
to follow them from a through i, and make sentences.

Example: fﬁ% LEb. ﬁﬁ?ﬁj’%*ﬂi ICRET 523 ) T,

i
Ex. £%7 5 aﬁ%LiT

1. X3 “b. XIS B AT & A,
2.3‘“‘41:0:??( °c.§3‘5’) ZS;O'C‘«‘iTO

3. BREAED L 4\ d. ??ffj?iﬂ;czgﬁﬁ’g?%oqé) 18 G B
4.%»\ . ve. P4 Tyl il i b el E A,
5.7?)17?;’ <7ZC‘«‘ -f.;;;ey)é:ﬁ'ofékf%?iﬁ“o
aﬁtzﬁwgt 2. B0 2T

i {ng*iﬁﬂwt%&\n =h. B%ék\ﬂ’((%ﬁ‘iﬂ\o

8. E%%Abf%‘ﬁ% th A= e B et T L,

C. Pair Work—Ask what your partner would do in the following situations, using
~5

Example: 0 %%2¥]&% — A 0,\—5«%3}07‘:6\ Eal

nWTA = nuTA

B:0&:Rorksb, BABOMEECHE T,

nWWTA Z lEmlsv s
{ L:E%%
BE&» W
»i
BAREL LF I

E L9 5

%/'&t

brZ BAL

o

HARW

S BEDI D DAL 5SS

»DLU &

£<Lt ét

72hb

RomoR. BRI L

o =N O Ol = W DD =

@ﬁzﬂ.aﬁ LELTELWNTT

AEED

A. John doesn’t have to do the following things. Make sentences using ~&E<T%H

LALY,

Example: need notstudy — Ya r ZIAE#ERELLL{ T VWNWTT,

~NAEL)



%175%4’

On Saturday:

1. need not memorize vocabulary

need not practice kanji

28
3. need not speak Japanese
4. need not get up early

5

need not go to school

At his homestay:

6. need not wash dishes

7. need not do laundry

8. need not cook

9. need not clean his own room

10. need not come home early

Pair Work—Ask if your partner has to do the following things today. Add your
own questions. When you answer, describe why you have to/don’t have to do
it.
Example: write a paper

2 AI?E‘Vﬁ—FE%#§<%%WHi%A#O

B : Li‘«\%?’)‘&‘ {bLeWTEFRALDENRZHLAETT»L,
W2 %b‘&‘ (LW TT, LOEXNIIRATT 25,

5WLp)

Questions Answers and Reasons
go to bed early QR W 2
memorize kanji [ AVAYd
withdraw money QR AAAY-4
do homework QR W\ Z
2o to the post office QR AAAY-4
go shopping R AVAV4
R WA Z
[N AAAY-4
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C. Pair Work—You and your friend are doing research on companies. Student A
has looked into SOMY and Student B has looked into Bamasonic (B’'s memo is

on p. 110). The things you must do are checked. Look at the memo and
exchange the information using ~&E<&E» W\ FEBAD. After getting all the
information, discuss which company would be better.

Example: A (N2 =vw 7 Cli+ER|: 1?)575 K eI IH AL,

ST 0

B:iwvwwz, @rn CTENTE, V2 T

& TR Bo weee
=
|
\

Student A

Bamasonic
. WorkonSaturdays
___beabletouseacomputer
et duitateagegfag’ S
L workvntilatehows
_liveinadormitory

weara BIE s nrineins nogines 3 Sio B
_ ¥250000  salary M

W A==V VH=L\\TTH
A. Describe what the following things/people are like with ~#&7=L\Td 1.

Example: jﬁ@i%fft)f?o KT%?%\\A/C“?‘O
- A—IN—=2 L AEWTT i,

1) DY (seaweed) T, (2) B > X (earpick) T,

i%/¢ﬁ

A= 7 B

Ghin' LG GrI7r 70y,
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B. Describe the following pictures with verb + &=WL\TY.

Example: % A AT 5

Ex. @ 2
3) (4) 5)
(6) @) ®) 9

RESTAURANT
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C. Pair Work—Ask your partner the following questions about the picture. When
you answer, use ~#7=L\TTY.

Example: A : Z@Atig_@{\zf“?b‘o

vz

BinZ 2 .  FBALL T T Aoz e BOA L B WE W TT,

bBrl Wi brc 0

CHDAIFEETTH,

e oAl G e

:m#ﬁ%%tfwi?#o

> A

S BEHRATT

\/%ij ;ﬁ;ﬁﬁ%o’(“i Forr,
COART=RELI T,
=3 E?\’\ij—ﬁ)o
LCRImELI T

- RERHITE X T

el —vb*“é’iqéﬁ S SE
.é‘ﬁELTMiT#O

@ oo = gyl ol e aeD NS

—
(=}

W BEARICEKTHOREAEZME LU
E A & = C Eh & NuEES

A. Look at the following pictures and make sentences using ~ThH'5.
Example: E$§§0)7—‘—7°%E§]\"C75‘ 5. :E%i 1

b= 13A &
Ex.

@ 2)

Q}-y’
Ry
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B. Look at the pictures above and make sentences using "EE‘:-

Example: :T%Z)fﬁf!:\ B$§§@7‘—7°z&]a§]§i‘j‘o

12 134 &

C. Pair Work—Ask your partner the following questions.

%ﬁu*éiu‘ﬁéti?#o

Zole) <

. ﬁﬁfﬁi?%;ﬁﬁb:‘ ﬁ% LS el A D,

LIl x<

; ,.aiz%w“%;éﬁc:\ jj{rbfo:n'C“fH)O

H=-2A

SDH t;’\:g%o T b, j‘gbf’i’ Lel i
- /9\53}5’:%75555#00 Tk, ﬁéj‘%o% h T,

&) el

(51 B O A
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A. Gossip about people (e.g., a celebrity/your teacher/your classmate) by using

~%Z>7CT9/~>7T. You can make up your own story.

B. Talk about the things you have to or don’t have to do in Japan, comparing them
to similar situations in your country.

Example: BAREZT XYZORMIZIEIVSWS 0RO H) ¥, 22 2iF, BER

iz 1A

Tt %@*T%@EHE?&“‘E ChalE A, T, 94 71 CIIm

wh

L TH VT T,

C. Find an interesting news item on TV or in newspapers or magazines and report
on it using ~%¥57TY.

Example: i =a=RAlcl 22, P73l T T EP o2 907,

C LA

Pair Work @ @

Example: A (N2 V=9 7 TIREEBRIZHI T bLeWnWT I HAD,

il IS 1375

BElol e TR TR, SR Ty

Student B (7 ™
Bamasonic SOMY

work on Saturdays
be able to use a computer
quit at the age of 60

v work until late hours

v/ live in a dormitory

v wear a tie

¥220,000 salary
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At the Barber/Beauty Salon

o
?| i}

&

A

Useful Expressions
oy N =) ?:)Eg\t‘ B e
— I would like to have a hair cut (permanent).

%i’)h( LA ql ov,

= Please don’t make it too short.
FHLLNWTLLIEX N,

— Please don’t shave.
3‘12‘/?“(“6“270“( ¢ T Sy

— Please cut off about 3 centimeters.

?56% ik 26 K TEsey Please cut the back all the same length.
ZB";LZ L, Please dye my hair in red.
L7 e —Af:»\&%%ﬁ;c: LA T,

AT

—— I want my hair to be like Bob Marley’s. (showing the picture)

Useful Vocabulary

S Al — s Ghampoo Ws - —  —lagut

Py S cut 2 0 to shave

vl blow-dry ?i'] A== p Crop

IN—2 permanent &€ % ———to dye

i gk set % 52 &= to make hair even; to trim
f;mﬁ; hair style sX—= % %1T % — to have one’s hair permed
b A H|T ————sideburns

2 =
W

b€

5178 # 3
H H)\ ;H{_)]
f'\< ~N
\\ v
P <




